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Cálculos:
Ecuaciones de equilibrio
nFx=0 ; -Rc + Rax= 0 
nFy=0 ;  Rb1 + Rb2 - Ray= 0

nMa=0 ; -Ra.(2,5m)+Rc.(1m)+Rb2 .(8/3 m)+Rb1.(2m)

A

Sabiendo  que:
➢Ra= q1.D= (15KN) . (5m) = 75KN
➢Ray= q1. D. Cos  = (15KN/m) . (5m). (4/5 ) = 60KN
➢Rax= q1. D. Sen  = (15KN/m) . (5m). (3/5) = 45 KN
➢Rc = qc. (3m). (1/2) 
➢Rb2= (qb-qa). (4m).(1/2) = (qb-qa) (2m)
➢Rb1= qa. (4m) 

Entonces: 

nFx=0 ; - ( qc. (3/2 m)) + (45KN)= 0 
nFy=0 ;  (qa.4m) + ((qb-qa).2m) – (60KN) = 0
nMa=0 ; - (75KN).(2,5m) + (qc.(3/2 m)).(1m) + ((qb-qa). 2m) .(8/3 m) +(qa.4m).(2m)= 0

Respuesta:

qc= 30KN/m  ,   qa= 6,563KN/M   ,  qb = 23,438 KN/m


